Algebra 1 ‘ Nome:
Funclion Notation, Doy 2 Date: Period:

Wdrm-upz For each, evatuate f(1). Use the function statement to create an ordered pair solution.

J l 2 [ x T o ] 2 3
F(x] -3 2 -4 1
o o f=__ >, )
3. f{x) =3x+ 13

f1) = S} = > )

When you are given a problem in the form f(1) = {blank}, the number 1 represents the X gV
(3¢ -value), and your job is to find the corresponding y-value. Who’r if instead you were given
f(blank) = 1. In this case, the number 1 represents the WJ“UE\{%{U Ll -value) and your job would
be to give the x-value that result in this output. Let's try a few: s

Using each of the funclions ABOVE, determine where f(x) = 1.

w1 f_ 0 )=1 groph) 2. =1 [table) 3. f[____ )=1 [function)
éfi{,fr : ‘c\‘f‘ \Nf‘v.u\uﬂm w) -*‘l\ 3 }L?
Exercises: Fill in the é“cmk with the correct x-value.
o A IFglx) = 4x 7, determine when g{x} = 21. 5. Ifh{x) = 3 - 2%, determine when h{x) =-9.
W
gl -~ )—21 h(._ )=-9.
6. Use the grqph to filf in each blank. 7. Use the table to fill in each blank.
x | 2 [ o 3 5
: f{x} 5 1 2 0
5 2405 ﬁj .
a.) f[5) = | c)fl___})=5
p) fO)=___  d)f___)=0
a.) fl-4)=__ _ c) flL___)=-

b.) f{0) = d) fl__ )=0



ALGEBRA 1T . . Name:

Graded Task _ Date:

Sampﬂe problem: Given ’rhe function fx) = -3x + 7, find
a. f[-5) b. the value of x for which f(x) =-5

FESYe -3 ()4
= 15+ =23

Part 1: Use f{x) = 4 . glx} = 5-2% and h{x} = x2 + 2 to answer each question,

f{17) = 2. gl4) = "3 h@=_ 4f=-6x=___

b.giX)=1,x=__ 7. fx)=9x= 8. f{9) = 9. f{2) =

Part 2: Use f(x) =-x+ 4, g(x) = 10x-8, and h(x} = %—5 to answer each question.

1. f[2) + g{-3) = 12. (10}~ h(12) = 13, 4g(2) =

14, h(-3)*f(12) =

WE

@ﬁm@fﬂ;wn.*“
SWE S
W wlf pasel

5 hl-3)=__

n(-3) {3+

10. g(x)=-17; x=

15. h{30)*g(-3) = 16. h(6) +3g(1) - 2f(-5) = _____



Algebra 1 ' Name: W

Function Notafion, Bay 2 _ Date: - Period:

W‘drmuup: For each, evaluate f{1). Use the function statement to create an ordered pair solution.

i ; A :
R ?
\ flx) | -3 2 -4 1
N m=_ L >\
| \ -
\ _ 3. fx=ax+13 3V TS5
flly=_-+ >\, 1) im=_\l > U

When you are given ¢ problem in the form (1) = [blank], the number 1 represents the TR
(¢ -value), and your job is to find the corresponding y-value. What if instead you were given
flolank) = 1. In this case, the number 1 represents the JZAWIGE, (44 -value] and your job would
be to give the x-value that result in ’fh|s output. Let’s try a few: j

Using each of the functions ABOVE, determine where f(x} = 1.

LR 0 )=1 (graph] 2.f(_ 0 _)=1 [table) 3. f -9 )=1 (function)

7 b 4 W= ,.;, 3

»{ul%‘a g r —

Exercises: Fill inthe élank wiih the correci x-vdlue.

i

4, If g[x) = 4x~ 7, determine when g{x) =21, 5. If h{x) = 3 - 2%, defermine when h{x) =-9.
g )=21 N A =9
ﬂ Cﬂ T e .. ’ e — —
. %f e d=2-2¢ X=b
7. Use the table to fill in each blank.
X -2 0 3 5
, fix) | 5 l 2 0
A 0\ a) H5)= =% o) fl=Pe)=5
\(“\;p " + b.) (0} = d) L5 )=0
E ; Qb
j==Y  c)flT2 '5 |




ALGEBRA 1
Graded Task

Name:

220
v,

Date:

Sample problem: Given the function f(x) =-3x + 7, find

a. f(-3]

-Part 1: Use f{xj = '%:—1 gix} =5-2x, on'd h{x) = x2 + 2 to answer each question. A U\E 7 pmu”“e‘dﬁ[«”
L7y = M 2. g4 =~> 3 h2=lg 4.1(x) =6 x="225. h(-3)=_
| | .
-1 = ' z - n/-2ye (-B) &L
o 5alf) Ty e X [B)e {5) 4
4 R | 4 AT
- m2Y =y =]
2% =Y _
6. 9lx) =H;x=:§ 7. fx) =9 x= 2 1 8. f(9) = _7/ 9. f2) = \Z';[ 10. gix)=-17; x=_W_
l =2 C - ’}1‘-'-’* S5-2N
|-s-2x g 9= ¥l oy p@y=al P ¥
b =-2Y 4 y T _gz=a2y
= -5 i{ ﬁi"n =7 F(ZB:'_E{ X=1
Part 2: Use f(x) = x + 4, g(x -8, and h(x) = %uS to answer each guesfion.
1. H2) + g3 = ~3b 12. {10)~h(12)=_ & BRE) 49 2) Ybh
N v oV q '
- - , -0ty — “"‘—«% (w y) )
214 0D 4 ( {\)
. e L ‘ﬁ )
.+ -29 | L 4 { 2)
Ltrg
14. h{-3)| 12) Liﬁ 15. h(SO) 9(3) HO 16. hl6) +3g(1) ~2f(-5) = -\

(3o

(-v) (-9)

b. the value of x for which f{x) = 5

ke St 10
§Uk? &1 Vi

#(2) 2(1)
24 |, ~\%

( 'YOM 9

(=)(-29)



